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Topicsirevised Probiem 53 to make it more interesting, the other problems concern computations in-
volving Tavlor and Laurent seric
liseussod in the past fow mee
P det vou chew on these.

westions about the analysis wo have

Problem 53 [ f{2) is complex-differentiable at z, then L(z) = f(z,) + f(2)(z — =) gives the best
atfine approximation to f{z) near z,. Consider two additional points 2, 2 snch that 2, 2, 2y are
distinet, We can construct voectors oy

= oo — &, ald @ = - oz, and visualize them as vectors
based at z,. Consider the transtormation of the points z,, 2;, 20, Define wy = f{z;) for j = 0, 1,2,

These transforted points define new vectors in the w-plane; by = wy — w, and by = wy — w,.
Show that the angle between ), d, is the same as the angle between by ba. 165 useful
to note the identity bolow (sinee we use dot-products to find angles.,.):

XV w0 Xo ¥+ Xo¥ = Re((Xy 4 iXa)(Yy = i¥)) = Re( XY)

Problem 58 problom 7 of section 45 of Churehill (page 149).
Problem 59 problem 2 of seetion 47 of Churchill {(page 156).
Problem 60 problon 4 of section 47 of Churchill (page 157).
Problem 61 problem § of section 47 of Churchill {page 157).
Problem 62 problom 10 of section 51 of Chioebill {page 174).
Problems 63 problem 11 of section 51 of Churehill {(page 174).
Problem 64 problem 12 of section 51 of Chuechill (page 174},
Problem 85 probiom 15 of section 51 of Churchill (page 175).

Problem 66 problom 16 of section 51 of Churchill {(page 175).
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